Please check the examination details below before entering your candidate information

rCandidate surname Other names )

L
Centre Number Candidate Number

Pearson Edexcel International Advanced Level

Paper

Time 1 hour 20 minutes
reference

JChemistry

International Advanced Subsidiary/Advanced Level
UNIT 3: Practical Skills in Chemistry |

. J

[ You must have: Total Marks
Scientific calculator, ruler

. 7
. 7

Instructions

® Use black ink or black ball-point pen.

® Fill in the boxes at the top of this page with your name,
centre number and candidate number.

® Answer all questions.

® Answer the questions in the spaces provided
— there may be more space than you need.

Information

® The total mark for this paper is 50.

® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

® You will be assessed on your ability to organise and present information, ideas,
descriptions and arguments clearly and logically, including your use of grammar,
punctuation and spelling.

® There is a Periodic Table on the back cover of this paper.

Advice

® Read each question carefully before you start to answer it.
® Show all your working in calculations and include units where appropriate.
® Check your answers if you have time at the end.

Turn over

©2021 Pearson Education Ltd.
P 6 9 4 6 1 A 0 1 1 6

e Pearson



Answer ALL questions. Write your answers in the spaces provided.
1 This question is about some compounds of strontium.

(a) State a test for the strontium cation, giving the expected result.

(b) An unlabelled bottle was thought to contain solid strontium chloride.

A sample of the solid was dissolved in distilled water for tests to identify
the anion.

Complete the table to give the expected results of the anion tests.

Expected result for the

Reagent added for test strontium chloride solution

Barium chloride aCidified WITR | oo
hydrochloric acid

Silver nitrate acidified With | e
nitric acid

(c) Anhydrous strontium sulfate undergoes thermal decomposition at
approximately 1300°C.

SrSO4(s) — SrO(s) + SO,(g) + ':0,(g)

Suggest why this decomposition is unlikely to be possible in a school laboratory.
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(d) Anhydrous strontium nitrate decomposes at 570 °C.

Sr(NOs),(s) — SrO(s) + 2NO,(g) + '%0,(9)

(i) Describe how to ensure the strontium nitrate decomposes fully.

(iv) The solid residue from the decomposition was added to distilled water.

Give one observation for the reaction that takes place, identifying the product
of the reaction by name or formula.

Observation

(Total for Question 1 = 10 marks)
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2 Geraniol is used in perfumes and can be extracted from many plants.

.>/

58

Data on geraniol are shown.

Noa

ot

Melting Boiling
temperature/°C temperature/°C

3

Solubility in water Density/gcm™

ot

ot

insoluble -15 230 0.889

5

o

The structure of geraniol is shown.

IR
CXXXX.

50X

5835

VAUV SIHL N 3 O

KKK,
2005008

OH

(@) Geraniol has two different types of functional group.

Name the functional groups, giving a chemical test and its positive result to show

the presence of each group.
(4)

First functional group:

\ J &3

4
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(b)

mOEE

Geraniol is extracted by steam distillation.

(( i

water out )
vent to sink

mixture to be
water steam distilled T

T T water in

HEAT HEAT

collecting
flask

The steam distillation product is geraniol and water. The water may contain
dissolved impurities which have similar boiling temperatures to geraniol.

The contents of the collecting flask are transferred to a piece of apparatus used to
separate the geraniol from the water layer.

Draw a labelled diagram of this apparatus and its contents.
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(c) The geraniol will still contain small quantities of water.

Describe how to produce a sample of pure, dry geraniol using a named
drying agent.

(d) The hazard labels for pure geraniol are shown.

() Complete the table to identify the hazards indicated by the symbols.

(2)

J
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4 A
(ii) State one precaution, other than wearing safety spectacles and a laboratory
coat, that should be taken when using pure geraniol to reduce the risk
associated with the hazard symbol shown.
(1)
(e) State the appearance of the flame when geraniol is ignited.
(1)
(f) Geraniol reacts with excess hydrogen gas.
(i) State the essential condition required for this reaction.
(1)
(ii) Draw the skeletal formula of the product of this reaction.
(1)
\
OH
—_—>
geraniol
(Total for Question 2 = 16 marks)
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3 Astudent carried out experiments to determine the enthalpy change for the
hydration of anhydrous copper(ll) sulfate, CuSO,, to form hydrated copper(ll) sulfate
crystals, CuSO,-5H,0.

To find the enthalpy change of solution of anhydrous copper(ll) sulfate, 25.0cm® of
distilled water was placed in a polystyrene cup and the temperature measured at
one minute intervals.

After 2.5 minutes, 7.50 g of anhydrous copper(ll) sulfate was added and the mixture
stirred continuously.

The results are shown.

Time/minutes 0 1 2 25 3 4 5 6 7 8
Temperature/°C | 21.1 | 21.0 | 21.0 X 342 | 376 | 369 | 36.1 | 352 | 343
.
8
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(a) Plot a graph of temperature against time on the grid.

(3)
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(b) Determine the maximum temperature change, AT, using your graph.

KKK
0“2.
&0
o2

>
5
<

55

o%
XX
A"A
%3
55

<
25

<5
i
X
po

X
X
X X
3
o2

O
o

You must show your working on the graph.
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(c) The value of the enthalpy change from this experiment was —39.0 k) mol™.

Give one possible reason why this value is different from a data book value
of —61.4kJmol™.

(d) After another experiment to find the enthalpy change of solution of
hydrated copper(ll) sulfate crystals, the student constructed the Hess cycle shown.

(i) Calculate the enthalpy change of hydration for the conversion of
anhydrous copper(ll) sulfate to hydrated copper(ll) sulfate crystals.

CuSOy g L5 Cus0,-5H,0y

-390 KSM&I /+s.(,k:\'~ol"

(i) Give one possible reason why the enthalpy change of hydration in (d)(i) could
not be found directly by experiment.

(Total for Question 3 = 8 marks)
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4 Students were set a challenge by their teacher to produce a chemical clock
measuring a 20s time interval. They used an opaque solution that became
transparent, allowing a black cross to become visible after 20s.

white paper with
large black ‘X’

The students investigated the effect of temperature on their results and plotted
a graph.

50
45 -
40
35
30
Time t/s
25
20
15
10

5_

0 T T T T T T T T T T T T
0 5 10 15 20 25 30 35 40 45 50 55 60

Temperature/°C

(@) In this type of experiment 1/t (where t is time) may be used as a measure of the
rate of reaction.

(i) Calculate the rate at 15°C to a suitable number of significant figures.
Include units in your answer.

12
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(ii) Sketch a line showing how the rate of reaction varies with temperature for
this reaction.

(1)
Rate
Temperature
(b) Evaluate the students' results and decide whether it is necessary to repeat
their experiments.
(2)
(c) State how you would change the conditions to make this chemical clock measure
40s at 22°C.
(1)
(Total for Question 4 = 7 marks)
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5 A technician found a bottle of sodium hydroxide solution at the back of a cupboard.
The technician determined its concentration by titrating 25.0 cm’ samples against
0.500 mol dm™ hydrochloric acid from a burette.

The results obtained are shown.

(@) Complete the titre values.

(1)

i3

LN
S

Titration number

AL AAAAAAAA
XX

Rough 1 2 3 4

Final reading

3 24.90 21.25 42.85 21.80 43.15
/cm

Initial reading

3 2.30 0.00 21.25 0.50 21.80
/cm

Titre/cm® 21.35

(b) (i) State why the value from Titration 2 was not used to calculate the mean.

(i) Calculate the concentration of the sodium hydroxide solution in mol dm™.
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(c) Each reading of the burette has an uncertainty of +0.05cm>.

< Calculate the percentage uncertainty in Titration 4.

ul (1)

<

s
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e
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(o)

=

()

Q

(d) State the colour change that would be seen at the end-point in this titration using
phenolphthalein as the indicator.
(2)

5 FIOMM e B0 e
: (Total for Question 5 = 9 marks)
5 TOTAL FOR PAPER = 50 MARKS
5
o
o

S

LLI

s

=%

L

8

=

=

i

sy

£

=

=

5

z

o

8

1N

15
mcmn AR O T T
P 6 9 4 6 1 A 01 5 1 6



€01 201 101 00l 66 86 16 96 G6 6 €6 6 L6 06
WINDU3IME] | WINLISQOU | WwniAslRpUsW | WNIWLISY [ WNWUISISULS |WNLUIojed| wniowaq wnun> wnpuswe (wniuojnd (wnwnidau| wnwein |(wnugoeicad| wniioyy
o | ON PW w4 s3 E®) Ad wd wy nd dN n ed ylL
[sq] | pedd | losdd | [esdd | [ysz] | Dedd | [svd | [wdd | [svdd | [ovd | [z€2d 8€z [1£7] [4%4
[ 0L 69 89 19 99 69 9 €9 9 19 09 6S 8¢
wnpaM [wniquanh | wnynyy wniqud | wniwioy [wnisoidsAp| wniqsay [wnunopes [ wnidoina |wnuewes (wniyiswoid|wniwAposu (wnwkpossed|  winpiad SOLISS SpIULDY
n qA w] 43 OH Aa qL PO n3 ws wd PN Ad 9) $a113s aplUBYIUET ,
G/l £/1 691 191 o9l €91 651 161 1441} 0S1) [zp1] <4’ 1l ovl
[ oLl 601 801 L0l 901 G0l ol 68 88 8
pajediiuayine A))nj Jou Inq WINUSBIUS0( Wnipelsuuep | wiNUSUIBW | wnissey | wnuyoq |wniBlogeas| wniugnp |wnipiogapni winwuoe | wnipes | wnuely
pa1iodas usaq aAeY 91 }-7 )| SISQUINU DLWOIR YIIM SIUSWa 3 8y sa W SH yd 8s qa N £V ey 44
lzzal | Dizal | [892] | (222 | 9dd | [992] | [z9z] | [woddl = [zzal | [9zal | [gzad
98 <8 8 €8 8 18 08 6L -7 LL 9L Gl vL 4 4 PAe 96 o
uopeu auneise | wnwojod | ynwsiq pes) wnieyy [ Anosaw p1os wnuyeld | wniput wniwso | wnways | usissuny | wnejuey | wniujey wnueyjue)| wnueq wnisaed
uy w od g qd 11 8H ny d I sO 3y M el JH -3 eqd s)
[zzzl | [oizl | [e0Z] | 0607 | Z'20T | ¥'#0T | 97007 | 0°Z6L | L'GeL | T°Z6L | Z06L | T98L | 8°€8L | 6°08L | G'8/L  6°8€L | €481 | 6°CEL
G €5 [4° X 05 6F 8y 1y 9 7 44 (1% W [ or 6€ 8¢ L€
uouax aulpol wnunay | Auownue un wnput | wniwped J9A)LS wnipejed | wnpoyl (wniuayind [wnpauyda) wnuapghiow| wniqotu | wintuodsiz | wnuA | wniuos | wnipigna
=) 4 I ol qgs us ul PD 8y Pd U b | ny 20 ow qdN 1z A AS qQd
el | 69z | 9zzy | 8Ty | 281 | 8L | ¥TUL | 67201 | ¥°90L | 6°T0L | LTLOL [86] 6°G6 6°26 16 688 | 948 G'Gg
9¢ G¢ € X3 [43 LE o€ 67 87 LT 9T Y4 T X4 44 (4 0z 6l
uoydiuy aulwoiq | wnwuaas | owasie |wniuewsas| wniesd oulz 12ddod 1901 11eqod uout asauefuew | wniwouyd | wnipeuea | wniuelry | wnipueds | wniojed | wnissejod
8) /| 14 9S sy 99 en uz no IN o) 94 uw 1D A Ll oS e) A
8°€8 66/ | 06L 6v. | YU 169 69 G'€9 186 6°86 8°GG 6'%S 0758 670G 6'Ly 0°Gk Loy L°6€
8l L) 9l Gl vl €l (z1) (11) (o1) (6) (8) (2) (9) () () (c) 43 b
uofie auLIoyd anyins  [snuoydsoyd| uodyis | wniuiwnie wnisauSew |  wnipos
Iy 1D S d IS v 8w | ©eN
6°6€ G'GE (R4 0'1LE 1'82 02T I 74 0°€
oL 6 8 L 9 S Jaquinu (uojoud) drwole 14 €
uoau auuonyy uasAxo uasouilu uoqJed uoJoq sweu wnmAiag | wniyy
°N E| o) N p) g JoquiAs dlwoze og 1
A4 0'6l 091 oyl 071 8°0) SSBL DLWO0IE 3AI}3) 06 69
[/ (1) (91) (5t) (¥1) (1) ! Aay| (2) (1)
wnyay
uagoipAy
9H
h H
0t 0l
(84)
(8)o L 9 S 14 € [4 !

SJUSWS)3 JO 9)qel JIpoLIad SYL

EUEE

6 1 6

A 0 1

1

P 6 9 4 6

16



